Unit:
23 " lineh]
0.906 ACRAT
X_ o\eo\e
23 23 oA o 2\ =g
0 ‘{) T° &
14 o) 6 o o 40 -
5.512 100 1.575) 83.5
240 3.937 3.287
(9.449)
50 110 25
(1.969) 4.331 (0.984)
15 Al D) o o o o o -
R\ S—
0.590 60 20 ;{) 10 0 O
2.362 (0.787) 1
30
55 I 1.181 92
2.165)/ T %) [
5%, (3.622)
'/\3’ 138
)
0 ol 20 53 o 15.433)
o1 (0.787) (2.087) 190
(7.480)
O
(@] .
- Optional Item
58 |e W A A-RMB7PM
2.283 ° o[ ©B ol
<| 0 N Of o
29 [ = Pl "o
%(1.142) o
- - / Thickness-2.0mm
¢ /
O
LA
46
(1.811
83.5
(3.287)
100
(3.937)

Wall Mount Bracket for Remote Camera

Model: A-RMB7(B) Black,
A-RMB7(W) White

Specifications:

Intended Use
Max Load Weight :
Material

Paint

Weight :

Accessories

Compatibility :
Standard :

Mount of Remote Camera Only
7kg (15.5 1bs)

Steel
Powder Coat Finish (Both Black and White)

Approx. 2.1kg (4.6 1bs), Optional Item A-RMB7PM Approx. 150g(0.331b

For Camera: M4 x12mm Phillips Head Screw (4 pcs), M4 Flat Washer(8pcs)
M4 Hex Nut(4 pcs), M4 Spring(4pcs)

1/4-20x5/8 Hex Head Screw(2pcs), 1/4 Flat Washer(2 pcs)

1/4-20x3/8 Hex Head Screw(2pcs)

For Camera's Safety Wire: M3x12mm Phillips Head Sems Screw(1pc)
Canon CR-N500, Canon CR-N300 etc.

RoHS A S C

KRaI-IA>—



	Sheet1
	Drawing View1
	Drawing View4
	Drawing View5


